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1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD

CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
Test Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any nmlssmn.r’dlscrepancy will render the
Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

This Test Booklet contains 120 items (questions). Each item comprises four responses (answers).
You will select the response which you want to mark on the Answer Sheet. In case, yvou feel that
there is more than one correct response, mark the response which you consider the best. In any
case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator enly the Answer Sheet. You are permitted to take
away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong Answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN
THE OBJECTIVE TYPE QUESTION PAPERS.

(1) There are four alternatives for the answer to every question. For each guestion for which
a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(1) If a candidate gives more than one answer, it will be treated as a wrong answer even if one
of the given answers happens to be correct and there will be same penalty as above to that
question.

(m) If a question is left blank i.e., no answer is given by the candidate, there will be no penalty
for that question.
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FILL IN THE BLANK
Directions :
Each of the following sentences in this section has a blank space and four words or group

of words are given after the sentence. Select the word or group of words you consider the
most appropriate for the blank space and indicate your response on the Answer Sheet

accordingly.
1. How we to ageing is a 4. The football match had to be
choice we must make wisely. because of the weather.
(a) respond (a) called on
(b) absolve (b) called off

disch
()" eisoizmge (c) called out

(d) overlook :
(d) called over

2. Complementary medicine -
fewer risks, since it 1s used along 5. Nobody believed Ram -at first but he

with standard remedies, often to lessen to be right.
side-effects and enhance feelings of

well-being,. (a) came out

(a) reacts

(b) carried out

(b) releases
(c) worked out

(c) ejects
(d) turned out
(d) carries
6. How are you in your new
3. Stress may _ fertility in men job ? Are you enjoying it ?

and women.
(a) keeping on

(a) engage

(b) reduce (b) going on
(c) inject (c) getting on
(d) deduce (d) carrying on
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7. We live a tower block. Our 9. it was raining, he went out

apartment is on the fifteenth floor. without a raincoat.
(a) at (a) Even

(b) in (b) Since

(c) over (c) Unless

(d) above

(d) Although

8, You were going to apply for the job,

and then you decided not to. So what 10. I parked my car m a no-parking zone,

9 but I oy
(a) put you off (a) came up with
(b) put you out - (b) got away with
(¢) turned you off (¢) made off with
(d) turned you away (d) got on with
SYNONYMS

Directions :

Each item in this section consists of a sentence with an underlined word followed by four
words/group of words. Select the option that is the nearest in meaning to the underlined
word and mark your response on your Answer Sheet accordingly.

11. A provocative message had been doing 12. The differences include increase in mean
rounds on social media to instigate the temperature and heavy precipitation in
mob against migrants. several regions.

(a) dexterous (a) drought
(b) inflammatory (b) oasis
(c) waliant (c) rainfall
(d) prudent (d) snowing
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13. The portal will help victims and 17. For Gandhiji, India’s religious and

complainants to anonymously report linguistic diversity was an asset, not a
cyber crime. liability.

(a) incognito (a) obligation

(b) directly (b) advantage

(c) unf'ai!ingly (c) attribute

(d) in situ

(d) reinforcement

. i I | d. ’ . i
14. He is suffering from a terminal disease 18. How hysterical he is!

bl
(a) sublunary G5 B

(b) temific
(b) inconsistent

(c) chronic

(c) duplicitous
(d) incurable

(d) insincere

15. Doctors are reluctant to take rural

postings despite big salary offers. 19. Mahesh is mostly prejudiced in his
political opinion.

(a) disinclined
(a) objectionable

(b) eager
b dat

(c) fervent (5), ‘preintory

T (¢) jaundiced
(d) intimate
16. The authorities have reprimanded the
subordinate officer for wiolating the

protocol. 20. Do not indulge in tautology.
(a) extolled (a) truth telling

(b) purported (b) prolixity

(c) admonished (c) foretelling

(d) required an apology (d) telepathic conversation
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ANTONYMS

Directions :

21.

22.

Each item in this section consists of a sentence with an underlined word followed by four
words. Select the option that is opposite in meaning to the underlined word and mark your

response on your Answer Sheet accordingly.

His religious views are rather fanatical.
(a) bigoted

(b) rabid

(c) moderate

(d) militant

Religious fundamentalists often consider
the followers of other religions to be
heretics.

(a) dissenter
(b) believer
(c) renegade

(d) apostate

23. According to G B Shaw, men have

become inert. Therefore, life force has
chosen women to perform its functions.

(a) lively
(b) quiescent
(c) dormant

(d) apathetic

24. Some of the men are highly misanthropic.

25.

26.

(a) anti-social
(b) philosophic
(c) atrophic

(d) philanthropic

The teacher was a very profound man.
(a) sincere

(b) erudite

(¢) scholarly

(d) superficial

His hand-writing is readable.
(a) well-written

(b) decipherable

(c) illegible

(d) comprehensible
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27. Mohan is his steadfast friend.
(a) committed
(b) unwavering

(c) unfaltering

(d) unreliable

28. Radha often goes tempestuous while
debating.

(a) calm
(b) wviolent
(c) fierce

(d) vehement

29. The thief had very vital information to
pass on to the police.

30.

(a)
(b)
(c)

(d)

His

crucial
inessential

indispensable

fundamental

lectures are often wordy and

pointless.

(a)
(b)
(c)
(d)

diffuse

concise

garrulous

voluble

ORDERING OF WORDS IN A SENTENCE

Directions :

Each of the following items in this section consists of a sentence, the parts of which have
been jumbled. These parts have been labelled as P, Q, R and S. Given below each sentence
are four sequences namely (a), (b), (c) and (d). You are required to re-arrange the jumbled
parts of the sentence and mark your response accordingly.

31, the prize money for refusing her Pepsico was ordered to compensate the woman

¥ Q
(@ RSQP

(b) SPQR
(¢c) RPSQ

(d QRSP
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32.

33.

34.

trade operating from a colony held a meeting demanding a probe into the illegal drug
P Q R
the residents of the city
S

(@) QRSP
b).SPQR
() SQRP

(d RSQP

the university authorities cancelled the ongoing students’ union election and

i
following students’ unrest on campus closed till further orders declared the institution
Q | R S
(a) QRSP
(b) QPSR
(c) SQRP
(d RSQP

brushed past the latter’s pet dog  stabbed to death by a man  after his vehicle accidentally
P Q R

a cargo van driver was allegedly
S

() QRSP
() QPSR
() SQRP
(d SQPR
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35, an earthquake and tsunami  the disaster mitigation agency said that the death toll from
P Q R
in Indonesia has crossed 1500
S

(@ PQSR
(b)) RPSQ
(c) SQRP

(d QRPS

16 scientists say they have developed a new  illnesses such as heart disease and cancer

P Q
DNA tool that uses machine learning to accurately
R
predict people’s height and assess their risk for serious
S

(a) PRSQ

(b) RPSQ

(¢c) PSRQ

(d QRPS

37, arare evergreen tree in the Southern Western Ghats  researchers have found that

P Q
common white-footed ants are the best pollinators of

R
bees might be the best known pollinators but

S

(a PRSQ
(b) SQRP
(c) QSRP
(d PQRS
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38.

39.

40.

say from their forties onwards it is thus a good idea
P Q
and continue to exercise early enough for senior citizens to start
R S

(a) PRSQ

(b) QRSP

(c) QSRP

(dd PQRS

scientists have determined  injury in animals and humans
P Q

that is linked to the severity of spinal cord a gene signature
R S

(@ PSRQ
(b) QRPS
(c) QSPR

d PQRS

like a-muscle and repeating the process and stable reading circuit

P Q
helps the child build a strong  the brain works
R S

(@ QSRP
(b) SPRQ
(¢) QSPR

(d RQPS
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ORDERING OF SENTENCES

Directions :

41.

In this section each item consists of six sentences of a passage. The first and sixth sentences
are given in the beginning as S1 and S6. The middle four sentences in each have been
jumbled up and labelled as P, Q, R and S. You are required to find the proper sequence of
the four sentences and mark your response accordingly on the Answer Sheet.

S1:

S6:

He no longer dreamed of storms,
nor of women, nor of great occur-
rences, nor of great fish, nor fights,
nor contests of strength, nor of his
wife.

He urinated outside the shack and
then went up the road to wake the
boy.

: He never dreamed about the boy.

: He only dreamed of places and of

the lions on the beach now.

: He simply woke, looked out through

the open door at the moon and
unrolled his trousers and put them
on.

: They played like young cats in the

dusk and he loved them as he loved
the boy.

The correct sequence should be

(a)

RQPS

(b) SRQP

() QSPR

(d PRSQ

DFGT-F-HTE - A
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k. ] :

S56:

We do not know, after 60 years of
education, how to protect ourselves
against epidemics like cholera and
plague.

This is the disastrous result of
the system under which we are
educated.

: If our doctors could have started

learning medicine at an earlier age,
they would not make such a poor
show as they do.

: I have seen hundreds of homes. [

cannot say that I have found any
evidence in them of knowledge of
hygiene.

: I consider it a very serious blot on

the state of our education that our
doctors have not found it possible
to eradicate these diseases.

: I have the greatest doubt whether

our graduates know what one
should do in case one is bitten by a
snake.

The correct sequence should be

(a)
(b)
(c)
(d)

RQSP
PRQS
QRPS

PQSR



43. S1:

S6:

The weak have no place here, in
this life or in any other life. Weak-
ness leads to slavery.

This is the great fact: strength is
life, weakness is death. Strength is
felicity, life eternal, immortal;
weakness is constant strain and
misery : weakness is death.

: They dare not approach us, they

have no power to get a hold on us,
until the mind is weakened.

- Weakness leads to all kinds of

misery, physical and mental. Weak-
ness is death.

: But they cannot harm us unless we

become weak, until the body is
ready and predisposed to receive
them.

: There are hundreds of thousands of
microbes surrounding us.

The correct sequence should be

()

(b)

()

(d)

PQRS

PRQS

QRSP

QSRP

11

44. S51:

S6:

: Productive

The Nobel Prize for Economics in
2018 was awarded to Paul Romer
and William Nordhaus for their
work in two separate areas : econo-
mic growth and environmental
economics respectively.

Among recent winners of Nobel
Prize in Economics, it’s hard to
think of one issue which is more
topical and relevant to India.

: But there is a common thread in

their work.

: In economic jargon it’s termed as

externality.

activity often has
spillovers, meaning that it can
impact an unrelated party.

: Romer and Nordhaus both studied

the impact of externalities and came
up with profound insights and
economic models.

The correct sequence should be

(a)

(b)

(c)

(d)

PQRS

PRQS

QSPR

QSRP
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